2025 4EHK L [4]
1 1
aSsPLE P tasysS=-ox’+2,-15x 51 TRSNLERTOHEMT ()1

1 1 1 3
@ =f (_Exz +2-x% —a)dr = f (-3%*+2-a)dx = [ + 22— )l = —2a +3

FEIRTDO OB, y <0 OFHICH D OmEEU(@) &7 D y

—2=a<-1
2“
—2=8a<-10DLx
1 —a
! x3 2
U(a)=f (—xz—a)dx=2[———ax] =—2q—=
» 3 . 3
4 13
S(a) =T(a) —2U(a) = —2a+3+4a+§:2a+?
—2=a<-11ZBWT, S(a)lXHFAHEM, .y
-1 0 1
—1Sa<0Dtx u
V=a X3 v=a , '
U(a) = f (_xz —a)dx =2 [—— — ax] =—=(—a)2
—V=a 3 o 3
g R
S(a) =T(a) —2U(a) = —2a+3 —§(—a)§ S'(a)=-2+4V-a a

1
—1Sa<0D& X, S(a)lda= —Zﬁlk‘b\“ﬂf@jﬁo

1
a -1 —_— 0
S'(a) + 0 -
S(a) Vd N




